‘52 6 A Day LITE February 2nd

List some devices that would Which interface is text based? What would be the result of the
contain an embedded computer following code:
system.

transport = [“car”, “bus”, “train”, “plane”]

print (transport([2])

Provide the names of both data | How many bits are in a byte? In image representation, what
types that deal with numbers. does colour depth mean?
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‘52 6 A Day LITE February 2nd

List some devices that would Which interface is text based? What would be the result of the
contain an embedded computer following code:
system.

transport = [“car”, “bus”, “train”, “plane”]
print (transport([2])

Devices such as...

Dishwasher Command Line .
Microwave frain
Blu-Ray Player
Television
Provide the names of both data | How many bits are in a byte? In image representation, what
types that deal with numbers. does colour depth mean?
The number of bits used to
Integer 8 represent the colour of
Real/Float each pixel.
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